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| 2 Pyramid face angles

A pyramid has a square base with sides of length L. The apex of the pyramid is a height A
above the center of the base. The base lies in the first quadrant of the zy plane. Let A be
the corner at the origin, B that along the z axis, C' that away from either axis and D that
along the y axis. Let F be the apex.

a) Determine an expression for the length of the side from B to E.
b) Determine the angle on the EBC face at point B.
¢} Determine the angle on the EBC face at point E.
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Veclor  Cross Product

Tue  vecs  cose Prod«ccd s G4 mwlﬁ'f)h'cahim cperabion that  mgps

o vecors o anclr  vector; N
.’II B | -
/[‘/\/{s on‘:j exisls we fhres dimonsional '-,._ \ =D A xR
spoes . We  can deine  Hus as Joese T Ml;/
o N prbd,ud' g
s
e wo  vecters \ecer

\F E\/g con be ex):ressed in Crtesicn bases s
|

= AKQ +AJ9 +A2€

L

= Bx;\( *By\a\ +B%€

hen

AXB = (AJ%%~A%%BQ + CA%Bx—A)ng)é\ ¥ (A)Q‘BJ‘AJBX)%

hen dedious buk swocss\d‘fawwd vatberahices shaos that +he seme vector

gl
resuli Pegwdtess o whih  CGutesion  bosis is wed We  con also calulate
e cross product via: - Odteinal
. A A
X Y =
Axb = Ax Aj Ay
Bx Bj %%
whee a dderminanl s Comfmkd b\b)
Q, az a3
N b, bs b b3 [ b by
- &, _ + G
b, ‘bz 3 = Cy Cs e Ci Ca 3 C.Ca




ond  hoe

MR

One  con Spwo  that He closs PPocwc+ sahsfes:

D) Al =- RxA Not  commulzibive.
2)/&(6%3 = Exé +KxZ
I - ~
3) (AA)xB = A(AxB )
4) /S:x/:’ =0

Yor  (Corkeswen Yasis  vectors:

1

A fa) ity ~
XXS\(:O XX\8=2 /)\lx% =%
S(\yﬁ =0

282 =0

>
X
o>
1)
(<>




2 Cross products of basis vectors

Starting with the definition of the cross product
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2 Geometry of the cross product
Two vectors in the zy plane are illustrated. Express
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